
Delta T

R1 R2

delta TOT 1 = delta Fuer 1 + delta Temp 1
delta TOT 1=  R1.L/2EA + alfa.L/2.(Delta T)

delta TOT 2 = +(R1-F)L/2EA +alfa L/2 Delta T
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Eq Fuerzas en i : F = R1+R2

i

L/2

delta TOT = deltaTOT1 + DektaTOT2  
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(i>0)
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R1-F+R2 = R1-F + F-R1=0

R1-F
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L/21

2

= 0

Fint(x)=R1-F

Sustituyo 3 +4 en 2 y hallo R1 y luego con 1 se calcula R2 
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